CERTKILL

IBM
Exam M2180-747

IBM Application Infrastructure Sales Mastery Test v1

Version: 6.0

[ Total Questions: 37

http://certkill.com


http://certkill.com
http://certkill.com

CERTKILL

IBM M2180-747 : Practice Test

Question No : 1

Which competitive comparison of the WebSphere Application Server family and Oracle
WebLogic Server is correct?

A. Oracle WebLogic Server provides a smaller range of functionality, features and
operating system support compared to the WAS family. WebLogic is higher cost on
average when comparing equivalent capabilities to WAS.

B. Oracle WebLogic Server provides the same range of functionality, features and
operating system support as the WAS family. WebLogic is higher cost on average when
comparing equivalent capabilities to WAS.

C. Oracle WebLogic Server provides the same range of functionality, features and
operating system support as the WAS family. WebLogic is lower cost on average when
comparing equivalent capabilities to WAS.

D. Oracle WebLogic Server provides a smaller range of functionality, features and
operating system support as the WAS family. WebLogic is lower cost on average when
comparing equivalent capabilities to WAS.

Answer: A

Question No : 2

The Intelligent Management capabilities of WAS ND V8.5 and later releases were
introduced as "game changers'l to win against the vendor platform:

A. Red Hat JBoss

B. Oracle WebLogic
C. Apache Tomcat
D. Oracle Glassfish
E. All the above

F. None of the above

Answer: F

Question No : 3

Which of the following is IBM's enterprise data grid appliance solution?

A. IBM WebSphere DataPower XC10
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B. IBM WebSphere DataPower X152
C. IBM WebSphere DataPower XG45
D. IBM WebSphere extreme Scale
E. None of the above

Answer: A
Reference:

http://lwww.ibm.com/developerworks/websphere/techjournal/1010_inreach/1010_inreach.ht
ml

Question No : 4

Prolifics Inc. published a whitepaper in 2012 with a total cost of ownership (TCO) study
comparing WAS ND v8.5 and JBoss Enterprise Application Platform v6 over a five year
period. These products are proposed when customer requirements call for elevated
gualities of service and application availability. The study showed that WAS ND provides
significant cost savings compared to JBoss EAP except in the area of:

A. Hardware

B. Application management
C. Infrastructure management
D. Software licensing

E. Risk and downtime

Answer: B

Question No : 5

Which of these pricing options are available for WebSphere Application Server?

A. Fixed term licensing

B. Processor Value Unit pricing
C. Per socket pricing

D. Per user licensing

E. All of the above

Answer: B

http://certkill.com 3


http://certkill.com
http://certkill.com

